
3

1

8

2

10 12

74

9

5

11

6 4

5

7

8

13

12

Слайдеры KAWASAKI Z1000 `14- 
Артикул 4055611



ПОЗИЦИЯ ОБОЗНАЧЕНИЕ ОПИСАНИЕ К-ВО
1 4055611.1 Кронштейн левый 1

2 4055611.3 Втулка 1

3 4055611.4 Втулка 1

4 Слайдер 80x12 Сменный наконечник 2

5 Hexagon Nut ISO 4032 - M12 - W - N Гайка М12 2

6 DIN960  M12 x 1,25x100 x 30-C Болт М12 1

7 Washer DIN 125 - A 13 Шайба 2

8 DIN 912 M10x1.25 x 70 --- 32C Болт М10 2

9 4055611.2 Кронштейн правый 1

10 4055611.6 Втулка 1

11 4055611.5 Втулка 1

12 DIN 912 M10x1.25 x 110 --- 32S Болт М10 2

13 DIN960- M12х1.25 x 65 x 30-S Болт М12 1


	Лист1
	Чертежный вид1

	Лист2

